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Rav Hamnunoh  — 991 3270 @ 157 H¥a 7nyn RN RIAT 37 172 0dpnn
challenged it; but now if he had relations and set aside a Korbon, etc.

OVERVIEW

X7 stated that according to the 7" that 7nna ny>7 *¥2a XY °R7 oWR, the rule will be
that if 791907 AndOWa M2 win H¥2 he will be 21 one oWk only (even if he was Hva
M2 and there was 0N My*7°). X11127 17 asked that according to this, the ruling
should also be that if he was %v2 and set aside a 1279, and said wait (and do not
offer this 1297) until I will be 312 again, that the set aside 727 will be 7901 for the
upcoming nx°a!! Our MpoIN clarifies the question of X117 1.

mooin asks:
= 25193 Hyaws ANAY AN 13 NPINN NYIDNT 930D INT NINNN 29 7599 NN NN

It is astounding! What is s'R1n7 29 challenge; for if he maintains that the

‘setting aside’ (7wa1:7) of a 127 separates between each 782 if he was 7512 bpa -
= 31aa NPYNN PRY NYITY %Y NN 1M PYHNY W i) Mwa

So by a amw the 7wn977 will also separate, but how can he compare it to my>7

which do not separate by a 75 -
= SNYa NPOHNN ROT 2 99N TN NPINMK NYIDN PNRT 920D IN)
And if he maintains that 7w=s;7 is not 752 npvnn, so indeed it will also not be

nponn by a A,

To summarize; X137 17 maintains that 2>n°a mwaon (between each X°1) are certainly mponn
(if the mX*2 were Aw2), therefore he argues that o»n1aw My should also be mponn. The case
of 2»n1raw my>7° can only be if he was 33w2 H¥12; however by 71 since he is aware of what he is
doing there is no concept of Mponn 0»n1aw 7Y 7. MooIN asks what is the position of X111»:7 27 by

' x11m7 27 is (seemingly) arguing (rhetorically) that if (2»n1°3) N T are not Mponn (by 3 w) so (2»N13) Mws7
should also not be mponn ([even] by a aw). [The phrase Ty 2WaRw 7v is to be understood to mean until the next
time that I will be awa %312 (see 0" nn).] It is apparent that X177 27 maintains that (2°°n°2) Mw1on are Mponn (by a
future 2W), and therefore he maintains that the 0»naw nMy°7 by 2w should also be mpnn and he should be 2n
MPwKR wnAn.
2 This means that if he was 9¥2 and 127p w>57, and before they were 2°pn the 127 he was %12 again 713, he is 27n
a second awy. One brings an 791717 AndOW aWK even if he was 7°m2 2.
3 There is a 79170 ANdW owWX 270 even if he was 772 H¥12. If he was 7°T2 79170 AnMdWa M?°ya win 313 he is 21 only
one owR. There is no concept of MpPm MW 7 in this case, since they were all done 7m2. Therefore, argues nMooIn,
we cannot compare MW7 to My>7. By nwnoi if we assume that nw19;3 are Mphnn even by 7m, so therefore it is
understood that they are (certainly) p2nn by 3w, however regarding N7 since they are not 7°122 prn, we need not
assume that they are porn by 2.
4 mpoIn is asking why is X1»7 27 so sure that MwAn7 are MpPmn by AW (see footnote # 1); perhaps just as they are
not Mpomn by 711 (according to this option), they are also not Mp?nn by Aw.
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2»n1a Mo if he was 712 2. If he maintains that even 7112 the mwno7 are mphnn, what is
his question; it is obvious that M¥>7> and Mw1on have different rulings, for by my>7 there is no
mponn M1 by 111 (and therefore also not by aw), but by mwn9: since they are mpnn by m
so therefore they are also certainly® mpomn by aw. If on the other hand X111»7 27 maintains that
0*N12 MR are not MpPonn by 711, how is he so sure that they are mponn by aw; perhaps in all
cases of n"w, whether mwa57 or Mmy>7°, whether 0> n1a or AWy IIRY, they are never MpLmna.

NIBOIN answers:
= 1599 9917 PNYY 199299 NN

And it is the view of the >''1 that this is what X117 21 is asking X7 -
- SV INRIY MPTY 705U PAY MY 192 NPYNN YT 119
Since you (X?w) are not distinguishing between the nw7> that take place

between the acts of 1%°v23, and the nw>? which take place after all the acts of

7X°2; in both cases you maintain that he is 217 only one owX -
= DYUYNN DD INNRD YIPY WD MPHNM PPRT 9 MYH9N NNYN NIN

So therefore it should turn out now regarding nyw=2;7 as well, that since mMw-o7

2owynn 2 KL are not NMpun» according to H''; that is true -
= 79959 NMYWI9NAT 9919 N¥NHH ON

If we assume that 5"71°"1 argue regarding n1wa5:7, so "1 maintains (according to this
2"nX) that Twyn RS NWIDT are not MpPoIn —

moon inserts (parenthetically) -
= MPINNK MIVAIDN PRT DT NXINT 992910 NIIN 13N 229D 199N

And we can say that in this case of "% even "% (who maintains mpomn MwIo:T)

will admit that nw=s7 are not MpYrn, different from what he maintains by nxur -
- PYNNT MNP NNOA 223 NPT

For it is only by nxwn that °"1 maintains that nypbn» nwnon -

5 The concept of mipomn applies itself more readily to 3w, since there is a new awareness, and therefore a new sin
which requires a new 71792, as opposed to 771 where nothing ‘new’ is happening.
® A marginal note prefers it to read NP1 (instead of npomn).
7 owynn aw My T means he was %12 the 21w n"w and afterwards he became aware of the M0X, and then he forgot
again and was 312 the n"w again. In this kind of a 0>n12 7y>7 all agree by other o Mo°X that it is npnn and he is 2»n
many NMxvn. However here by n"w according to X219 he is 211 only one awx.
8 owynn NRPW My>7 means that he was 9912 the 1"w five times 2w32 and afterwards he became aware of each %2
separately; in this case X7 certainly maintains that he is 21 only one. By other 210> there may be a npy?nn how
many N1 he is 21. See the X713 on ,KY.
 The X713 on 2,8V cited a NP1?nn between 7" >3 whether Dwyna NRSW M7 are MpPLn or not. According to one
view they are arguing by nwyni 0> nwon, where he ate two TR 29v72 291 °n1, and then became aware of the first
n 1 and he was w51 a nRun [but was not 2°pn it yet] and before he was 2pn the nxvn, he became aware of the
second 2711 N1, According to >"3 the w157 is np2nn, and he will need to bring a second 127p for the second n°1, while
5"1 maintains that even (7wyna INRY) MWD are not MPonn.
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= 1053995 7HNIMNY MAIWN MYT> MYIDN 21N 93 NIINT DIVN
Since that together with the nw=s7 there are nw 7t which are significant,

since they cause the 71992 (so the my> 1 mwo7 together cause that they are mpbnn) -

= DXWYNN DI NN NPONN RIT NTIN JINI 2349 199N LRTIND NYWHDN NIN NIDT NON YaN
However here by 1"v where there is only w9577 by itself there is no 7¥°7> and
certainly no 721w 7v>7 since 1w is 712 271 like 2w, even "' will admit that
the @i @ anR w107 will not be np»ma. We have surmised that 5" and perhaps even
"3 will maintain that 2*wyni7 x> w997 will not be nponn by a n"w, so since according to X7W
there is no difference between 2wyni NRHY N7 and 0>°naw N7, in all cases he rules that
the my>7> are not NP7 and he brings only one WX, so X117 27 asks just as by My there is no

difference between 2°wyn 1°2 and 2WYHI MRS -
= AINYAY N2 12 NPINN NDT ) 9N

So here too the N9 should not be npPor» even between the NINY2 since they are
not Mponn after the MX°2 (as just mentioned above) and according to X?W there is no difference

between DwWvAn 1°2 and DWYNT KT -
= Y9N INRY N9%AY Y991 935V )29P2 99591 PRI NPINNT NP NI2D INTI NN

But logic certainly demands that 17%°2% 7%°2 12 7w157 should be npor» and he
cannot be 922n» with a 3292 which he was already w>as», for an 7992y which he

did after the 7w=57! The same should be by my>7 that there should be a difference between
Twynn nRow My (which are not Ponn) and 0°°n1aw My (which should be Ponn).This was the
question of X177 2.2

N19oIN continues with s'R7W answer:
= NIINP ND Y9N INNIT NWYN 1YY 9N

82w answered to X117 20; ‘I am not discussing an act of after the mw= s’ -
:0OUPNN Y3 NN AUPNY YUY P2 MIUN SN WIS

Meaning; I do not compare a w157 which took place mwwnb qwwyn 12 (where it

is npYnn) to a w1 which took place 2wy %2 AMRY (where we can say that it is not
npomn). However by my7 1 (X91) do compare 7wyn? qwyn Paw My to DWyni 3 NS My
that in both instances it is not np>nn.

SUMMARY

19 One cannot be 79301 with a nXvn unless he is first aware that he sinned.
' We are now maintaining that 72nn2 7v>7° *va 8 X7 OWX, so there is no significance to 7¥°7.
12 mpoIn seems to be saying that it is irrelevant what X171%77 27 maintains regarding MW7 by 711, for his question is
based on this that X7 failed to distinguish by a 2w between 0»n°a M7 and 2°wyna %3 NR? M7, In both cases
X?W maintains that these N> are not mponn. Therefore argues X1 27 since we know that 93 (and perhaps also
>"1) maintain that 7wyn7 R MWD are not MYy, so therefore according to X7 they should not be mponn even
by o>*n1°2 nwAoi, which seems preposterous!
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X117 27 maintains that if by my>7° there is no difference between Iwyn? nwyn 172
and D°wyni 25 TNKR?, the same should apply to Mwann, while 871w maintains there is
a difference between my>7> (where they are never mponn) and mw-on which are
nponn if it is owynb awyn Pa.

THINKING IT OVER

1. How are we to understand the differing views of X177 27 (who compares my>7
to MW on [regarding the connection between 0°°n1°2 and 2>wynn 95 KY]), and R9W
who distinguishes between N7 and my>7 (that by my>7 there is no difference
between nwyn? qwyn 172 and 2wYAT 93 MR, but by mwnon there is a difference and
0°°N1°2 MWD are certainly Ponn)?

2. According to Mvo1N answer, what does 11177 27 maintain by 2»n1°2 Mw1o:7 if it
was a 731 n7°ya?
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